A – VISION 2030: FINANCE & INFRASTRUCTURE

FINANCE

- 67. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the purchase of the following renewal of technology software subscription/licensing items for the 2020-2021 school year from CDW Government Inc. through the ESCNJ Cooperative Purchasing Pricing System Contract Technology Supplies and Services #ESCNJ18/19-03 for Security EA Licensing, in the amount of \$125,286.20.
- 68. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the purchase of the following technology equipment items from CDW-G through the ESCNJ award for Technology Supplies, bid number ESCNJ 18/19-03:

QTY	DESCRIPTION	UNIT	TOTAL
319	HP Chromebooks	\$219.00	\$69,861.00
319	Chromebook Service	\$ 6.00	\$ 1,914.00
319	Chromebook License	\$ 25.50	\$ 8,134.50

- 69. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following resolution:
 - **BE IT RESOLVED** that the Board of Education hereby appoints McCabe Environmental Services, L.L.C ("Firm") as Board AHERA Designated Person and Environmental Consultant and approves the Agreement for Professional Services between the Board and the Firm for the period of July 1, 2020 through June 30, 2021. The Board shall pay the Firm \$5,940 for two 6-month Surveillance Inspections plus the standard billing rates for 2020-2021 per agreement for additional services.
 - **BE IT FURTHER RESOLVED** that notice of the award of the above described contract for AHERA Designated Person and Environmental Consultant shall be provided as required by N.J.S.A. 18A:18A-5a (1).
 - **BE IT FURTHER RESOLVED** that this resolution and the Agreement shall be maintained on file and available for public inspection in the Board's office.
 - **BE IT FURTHER RESOLVED** that the Board President and the Business Administrator/Board Secretary, as the attesting witness, are hereby authorized to sign the Agreement.
- 70. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following resolution:
 - **BE IT RESOLVED**, by the Sayreville Board of Education to approve the submission of the "Gym HVAC Upgrades at Sayreville War Memorial High School" to the New Jersey Department of Education, DOE State Project #23-4660-

050-20-2000, for review and Department approval of an "other capital project" with no state funding which is consistent with the 2019 approved long range facilities plan. Further, the Board authorizes Spiezle Architectural Group Inc, to make the submission to the Department of Education on behalf of the district.

71. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the rejection of the unaccepted bids received in response to Bid #2020-2021-02 for Transportation Services for the 2020-2021 School Year received on June 12, 2020 due to high cost.

Route	School	Browntown	Durham	George	Irving	Jays Bus	Keyport	Road to
				Dapper	Raphael	Service	-	Success
4-HS 13	High School		\$114.90	\$127.44		\$138.00		
4-MS 13	Middle		\$114.90	\$127.44		\$138.00		
	School							
4-T/GRN	Truman		\$114.90	\$127.44		\$138.00		
5-HS 8	High School			\$126.05		\$165.00		
5-UES 14	Samsel			\$126.05		\$165.00		
5-A/PUR	Arleth			\$126.05		\$165.00		
6-HS 19	High School			\$124.66		\$145.00		
6-MS 22	Middle			\$124.66		\$145.00		
	School							
6-E 7	Eisenhower			\$124.66		\$145.00		
7-MS 18	Middle	\$149.00	\$149.18	\$178.00	\$220.00	\$247.50		
	School							
7-E 5	Eisenhower	\$149.00	\$149.18	\$178.00	\$220.00	\$247.50		
8-UES 19	Samsel		\$148.57	\$180.66	\$220.00	\$247.50		
8-T/YEL	Truman		\$148.57	\$180.66	\$220.00	\$247.50		
9-MS 14	Middle		\$152.18	\$180.66	\$220.00	\$247.50	\$151.00	
	School							
9-A/WHI	Arleth		\$152.19	\$180.66	\$220.00	\$247.50	\$151.00	
10-UES 5	Samsel		\$146.31	\$181.99	\$220.00	\$247.50		
10-A/SCA	Arleth		\$146.31	\$181.99	\$220.00	\$247.50		
11-MS 20	Middle	\$152.00	\$153.41	\$178.00	\$220.00	\$247.50		
	School							
11-A/ORG	Arleth	\$152.00	\$153.42	\$178.00	\$220.00	\$247.50		
13-MS 15	Middle		\$150.14	\$178.00	\$220.00	\$220.00		
	School							
13-	Wilson		\$150.14	\$178.00	\$220.00	\$220.00		
W/GRAY								
14-SJV	St. John				\$175.00	\$247.50		
	Vianney							

14-EBVT1	East				\$350.00	\$247.50		
14-LD V 11	Brunswick				φ330.00	\$247.50		
	Votec							
15-HS 2	High School		\$168.22	\$189.60	\$220.00	\$247.50		
15-EBVT2	East		\$168.23	\$189.60	\$220.00	\$247.50		
13 25 12	Brunswick		Ψ100.23	Ψ107.00	Ψ220.00	φ217.30		
	Votec							
16-UES 12	Samsel			\$183.24	\$220.00	\$220.00	\$151.00	
16-A/BLK	Arleth			\$183.24	\$220.00	\$220.00	\$151.00	
18-UES 21	Samsel			\$180.66	\$220.00	\$247.50		
18-W/PUR	Wilson			\$180.66	\$220.00	\$247.50		
19-UES 10	Samsel			\$189.60	\$220.00	\$247.50		
19-T/WHI	Truman			\$189.60	\$220.00	\$247.50		
20-UES 1	Samsel		\$148.55	\$189.60	\$220.00	\$247.50		
20-T/RED	Truman		\$148.56	\$189.60	\$220.00	\$247.50		
23-HS 12	High School		·	\$189.60		\$210.00		
23-WVT	Woodbridge			\$189.60		\$210.00		
	Votec							
24-UES 17	Samsel		\$148.69	\$181.99		\$247.50		
24-A/YEL	Arleth		\$148.70	\$181.99		\$247.50		
26-SJ/BA	St Joe/			\$100.00		\$247.50		
	Bishop Ahr							
26-E 4	Eisenhower			\$291.00		\$247.50		
27-UES 15	Samsel		\$146.70	\$181.99		\$247.50		
27-T/PUR	Truman		\$146.70	\$181.99		\$247.50		
28-UES 18	Samsel		\$150.12	\$181.99		\$247.50		
28-A/PNK	Arleth		\$150.13	\$181.99		\$247.50		
29-UES 11	Samsel		\$148.96	\$181.99		\$247.50		
29-	Wilson		\$148.97	\$181.99		\$247.50		
W/BLUE								
30-HS 1	High School			\$195.50		\$247.50		
30-PIVT	Piscataway			\$195.50		\$247.50		
	Votec							
31-UES 9	Samsel		\$146.92	\$180.66		\$247.50	\$151.00	
31-A/TAN	Arleth		\$146.93	\$180.66		\$247.50	\$151.00	
32-PAVT	Perth			\$319.00		\$495.00	\$289.00	
	Amboy							
	Votec							
34-MS 6	Middle	\$152.25	\$154.07	\$180.66		\$220.00		
	School							
34-	Wilson	\$152.25	\$154.08	\$180.66		\$220.00		
W/GRN								
35-HS 21	High School			\$178.00		\$220.00		

35-AMST	Academy of		\$178.00		\$220.00	
	Math &					
	Science					
36-MAST	Marine			\$353.00	\$450.00	
	Academy of					
	Science &					
	Technology					
37-	Center		\$438.00	\$426.00	\$595.00	\$299.00
12/CTR*	School					

^{*}With aide

72. The Superintendent recommends and so moves the Board of Education of Sayreville to authorize the Business Administrator/Board Secretary to advertise for rebid the student transportation routes listed below for the 2020-2021 school year.

Route	School
4-HS 13	High School
4-MS 13	Middle School
4-T/GRN	Truman
5-HS 8	High School
5-UES 14	Samsel
5-A/PUR	Arleth
6-HS 19	High School
6-MS 22	Middle School
6-E 7	Eisenhower
7-MS 18	Middle School
7-E 5	Eisenhower
8-UES 19	Samsel
8-T/YEL	Truman
9-MS 14	Middle School
9-A/WHI	Arleth
10-UES 5	Samsel
10-A/SCA	Arleth
11-MS 20	Middle School
11-A/ORG	Arleth
13-MS 15	Middle School
13-W/GRAY	Wilson
14-SJV	St. John Vianney
14-EBVT1	East Brunswick Votec
15-HS 2	High School
15-EBVT2	East Brunswick Votec
16-UES 12	Samsel
16-A/BLK	Arleth

Route	School
19-UES 10	Samsel
19-T/WHI	Truman
20-UES 1	Samsel
20-T/RED	Truman
23-HS 12	High School
23-WVT	Woodbridge Votec
24-UES 17	Samsel
24-A/YEL	Arleth
26-SJ/BA	St Joe/
	Bishop Ahr
26-E 4	Eisenhower
27-UES 15	Samsel
27-T/PUR	Truman
28-UES 18	Samsel
28-A/PNK	Arleth
29-UES 11	Samsel
29-W/BLUE	Wilson
30-HS 1	High School
30-PIVT	Piscataway Votec
31-UES 9	Samsel
31-A/TAN	Arleth
32-PAVT	Perth Amboy Votec
34-MS 6	Middle School
34-W/GRN	Wilson
35-HS 21	High School
35-AMST	Academy of Math & Science
36-MAST	Marine Academy of Science
	& Technology
37-12/CTR*	Center School

18-UES 21	Samsel		
18-W/PUR	Wilson		

SUPPORT SERVICES

73. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following transportation contracts contained in BID#2020-21-02 for school year 2020-21 and awarded to the lowest responsible bidder:

Route	School	# Of	Total Cost	Total Cost Per
		Days	Per Diem	Annum
Contract: Ke	yport Auto Body (KAB #1)			
1-HS/3	High School	182	\$104.00	\$18,928.00
1-UES 3	Samsel Upper Elementary	182	\$104.00	\$18,928.00
1-W/ORG	Wilson Elementary (Orange)	182	\$104.00	\$18,928.00
2-HS/5	High School	182	\$104.00	\$18,928.00
2-UES 8	Samsel Upper Elementary	182	\$104.00	\$18,928.00
2- E 2	Eisenhower Elementary	182	\$104.00	\$18,928.00
3-HS 16	High School	182	\$104.00	\$18,928.00
3-UES 7	Samsel Upper Elementary	182	\$104.00	\$18,928.00
3-T/ORG	Truman Elementary (Orange)	182	\$104.00	\$18,928.00
Contract: Du	rham School Services (DSS#1)			
12-UES 4	Samsel Upper Elementary	182	\$145.23	\$26,431.86
12-T/BLK	Truman Elementary (Black)	182	\$145.24	\$26,433.68
17-UES 16	Samsel Upper Elementary	182	\$145.05	\$26,399.10
17-T/BLUE	Truman Elementary (Blue)	182	\$145.06	\$26,400.92
21-UES 20	Samsel Upper Elementary	182	\$145.43	\$26,468.26
21-T/PNK	Truman Elementary (Pink)	182	\$145.43	\$26,468.26
22-UES 6	Samsel Upper Elementary	182	\$145.94	\$26,561.08
22- E 6	Eisenhower Elementary	182	\$145.94	\$26,561.08
25-UES 13	Samsel Upper Elementary	182	\$144.79	\$26,351.78
25- E 3	Eisenhower Elementary	182	\$144.80	\$26,353.60
33-UES 2	Samsel Upper Elementary	182	\$144.65	\$26,326.30
33-A/BLUE	Arleth Elementary (Blue)	182	\$144.65	\$26,326.30

D – VISION 2030: PERSONNEL

Approval of Resignation(s)

32. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the resignation(s) as indicated below for school year 2019-20.

Name	Position	Department/Location	Effective Date
Cogliano, Gianna	Part-time Paraprofessional	Sayreville Middle School	June 15, 2020

Approval of New Hires and Modifications

33. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the employment of the following certificated personnel for school year 2020-21 at the salaries and assignments indicated below. *Any changes made to previous approvals are in bold type*.

Name	Location	Assignment	2020-21 Salary	Effective Dates	Track
Bobik, Shayna (M. Opdycke)	SMS	Science Teacher	\$50,133 (BA, Step A)	09/01/2020 through 06/30/2021	Tenure
Brown, Colleen (New Position)	Project Before at Cheesequake	Preschool Teacher	\$51,513 (BA, Step D)	09/01/2020 through 06/30/2021	Tenure
Braun-Berrario, Rachel (T. Michael)	Truman School	Art Teacher	\$50,133 (BA, Step A)	09/01/2020 through 06/30/2021	Tenure
Charvet, Kristina (J. McGrade))	Project Before at Cheesequake	Preschool Teacher	\$53,003 (BA, Step E)	09/01/2020 through 06/30/2021	Tenure
Clark, Ashley (New Position)	Project Before at Samsel	Preschool Teacher	\$53,003 (BA, Step E)	09/01/2020 through 06/30/2021	Tenure
Clementi, Roxanne (New Position)	Arleth School	Special Education (MD) Teacher	\$50,133 + \$125 Stipend = \$50,258 (BA, Step A)	09/01/2020 through 06/30/2021	Tenure
Daly, Justine (New Position)	Project Before at Cheesequake	Preschool Teacher	\$57,633 (MA, Step F)	09/01/2020 through 06/30/2021	Tenure
DePaolo, Jacob	SMS	English Teacher	\$53,033 (MA, Step A)	09/01/2020 through 06/30/2021	Tenure
Gilbert, Gloria (New Position)	Project Before at Cheesequake	Special Education Preschool Teacher	(\$53,033 + \$125 Stipend =) \$53,158 (MA, Step B)	09/01/2020 through 06/30/2021	Tenure
Grieco, Christa (New Position)	Project Before at Cheesequake	Preschool Teacher	\$55,133 (BA, Step F)	09/01/2020 through 06/30/2021	Tenure
Iglesias, Nina (New Position)	Project Before at Cheesequake	Preschool Teacher (Relief)	\$50,133 (BA, Step A)	09/01/2020 through 06/30/2021	Tenure

Lujo, Renee (New Position)	Project Before at Cheesequake	Preschool Teacher	\$54,013 (MA, Step D)	09/01/2020 through 06/30/2021	Tenure
Novak, Jaime (New Position)	Project Before at Samsel	Preschool Teacher	\$50,133 (BA, Step A)	09/01/2020 through 06/30/2021	Tenure
Palma, Angelo (R. Mancini)	SMS	Replacement Music/Dramatic Arts Teacher	\$52,633 (MA, Step A)	09/01/2020 through TBD	Non Tenure
Passin, Dana (N. Cifelli)	SWMHS	Mathematics Teacher	\$50,133 (BA, Step A)	09/01/2020 through 06/30/2021	Tenure
Perez, Danielle (New Position)	Project Before at Samsel	Preschool Teacher	\$50,133 (BA, Step A)	09/01/2020 through 06/30/2021	Tenure
Rolwood, Eileen (New Position)	Project Before at Samsel	Preschool Teacher	\$50,133 (BA, Step A)	09/01/2020 through 06/30/2021	Tenure
Santora, Kimberly (New Position)	Project Before at Samsel	Preschool Teacher	\$57,633 (MA, Step F)	09/01/2020 through 06/30/2021	Tenure
Westpy, Max (J. Younger)	SMS	Special Education LAL Resource Teacher	(\$52,633 + \$125 Stipend =) \$52,758 (MA, Step A)	09/01/2020 through 06/30/2021	Tenure

Approval of Transfer

34. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the transfer of the following non-certificated personnel for school year 2020-21 as indicated below.

Name	Previous Assignment	New Assignment	2020-21 Salary	Effective Date
Szymanski, Felicia (R. Staine)	Cafeteria Worker Arleth School	Custodian (3 pm to 11 pm) Arleth School	\$28,500 NBS/1	07/01/2020 Through 06/30/2021

*Salary Pending Teamsters Contract Negotiations

Approval of Volunteer Coaches

35. Pursuant to N.J.A.C. 6:11-4.6 the Superintendent recommends and so moves the Board of Education of Sayreville to approve the personnel indicated below as a coaching aide (unpaid) for school year 2020-21.

Assignment	Last Name	First Name
Girls Soccer	Beagan	Laurie

Approval of Curriculum Writers

36. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the teachers indicated below to write the curriculum as listed. The stipend will be divided among the curriculum writers for each course.

Subject	Grade	Total Stipend	Applicant(s)
Mathematics			
Fundamentals of College Algebra	11-12	\$1,200	Cordes, Cynthia
			Gutschmidt, Amanda
English Language Arts			
Language Arts Literacy – Grade 6	6	\$1,200	Brown, Jason
			Testa, Christine
			(revised)
Language Arts Literacy – Grade 7	7	\$1,200	DelPopolo, Nicole
			Gentile, Michele
			(revised)

Approval of Community Parent Involvement Position (CPIS)

37. The Superintendent recommends and so moves the Board of Education of Sayreville to approve Jennifer Barreiro as the Community Parent Involvement Position (CPIS). The Stipend for this position is \$5,000 which is funded by the Preschool Expansion Grant for school year 2020-21.

Approval of Staff to Perform Summer IEP Work

38. The Superintendent recommends and so moves the Board of Education of Sayreville to appoint Personnel to perform IEP Summer Work from June 15, 2020 through August 28, 2020 at the hourly rate, number of hours, and total compensation as indicated in Attachment D-1.

Approval of Personnel for Remote Extended School Year Program

39. The Superintendent recommends and so moves the Board of Education of Sayreville to appoint personnel to work during the Remote Extended School Year Program **on an as needed basis due to enrollment**, to be held July 6, 2020 to August 6, 2020, at an hourly rate, number of hours, and total compensation as indicated in Attachment D-2.

Approval of SEA Certificated Staff (School Year 2020-21)

40. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the renewal of SEA Certificated Staff for school year 2020-21 as included in Attachment D-3. The employees included in Attachment D-3 are indicated below.

Behaviorist School Counselor LDTC School Nurse Library Media Specialist Social Worker

Occupational Therapist Speech Language Specialist

Physical Therapist Student Assistance Counselor (SAC)

Psychologist Teacher

Approval of Teamsters Non-Certificated Staff (School Year 2020-21)

41. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the renewal of Teamsters Non-Certificated Staff for school year 2020-21 as indicated in Attachment D-4. The employees included in Attachment D-4 are indicated below.

Custodians
Grounds Keepers
Maintenance Workers
Stockroom Personnel
Truck Driver
*Pending Teamsters Contract Negotiations

Approval of SEA Non-Certificated Staff (School Year 2020-21)

42. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the renewal of SEA Non-Certificated Staff for school year 2020-21 as included in Attachment D-5 as indicated below.

Bus Drivers
Cafeteria Managers
Campus Security Monitors
Computer Technicians (Full-time)
IT System & Service Engineers
Secretaries (Full-time)
Transportation Mechanics

Approval of Staff Not Covered by a Bargaining Unit for School Year 2020-21

43. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the renewal of Staff Not Covered by a Bargaining Unit for school year 2020-21 as indicated in Attachment D-6. The following employees are included in Attachment D-6 but not limited to as indicated below.

Confidential Secretaries – Page 1 Part-time Computer Technicians – Page 2

Non-Certificated Administrators – Page 3

Information Systems & Data Management Specialist
Treasurer of School Monies
Comptroller & Assistant to the Business Administrator
Evening Buildings, Grounds & Security Supervisor
Director of Facilities & Operations
Director of Transportation
Assistant Director of Food Services
Director of School Nutrition and Food Services
School Safety & Security Specialist

Approval of Renewal of Substitute Administrators

44. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the renewal of the following substitute administrative personnel for school year 2020-21 as indicated below.

Brady, Bonnie Eberhardt, Richard Goscienski, Clare Skowronski, William

Approval of Renewal of Substitute Nurses

45. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the renewal of the following substitute nurse personnel for school year 2020-21 as indicated below.

Aich, Courtney
Piredda, Paula
Harris, Rachel
Rutter, Linda
Mackey, Jennifer
Sepa- Cannovo, Irma
Makarets, Elena
Lopez, Bethany
Stropoli, Danielle

Approval of Renewal of Certificated Substitutes

46. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the renewal of the following substitute certificated personnel for school year 2020-21 as indicated below.

Abdul Ghafoor, Sadaf Mastrolia, Michael Aijaz, Nafeesa Mazur, Kathryn Allen, Katelyn McDonough, Jenna Andrawis, Mona Mish, Nicole

Anglin, Trevion Ascenscio, Carmen

Awais, Samra Benedetto, Joseph Bertolotti, Ann Marie Bianchi, Paola

Boccassini, Edward Boland, Sheila

Bowidowicz, Catherine

Bruce, Robert
Brzozowski, Dario
Bulakowski, June
Candelario, Michele
Cannan, Valerie
Cardino, Jennifer
Carney, Marisa

Castlegrant, Charlene Chandan, Hetal Check, Sandra

Cheruku, Jyothi Clark, Christopher Coderre, Mari

Costantino, Emilio Dakelman, Mitchell DePinto, Victoria Deroba, Nicole

DeSilva, Yamuna DiBetta, Brianne

Dietz, Thomas Dobiesz, Rita

Dobiszewski, Samantha Downey, Rosemary Drabik, Connor Eisenberg, Alexa Elsayed, Lamia

Eskander-Basily, Nancy Enahoro, Isimemen Evans, Kimberly

Faine, Jonathan Fargione, Carli

Eze. Kene

Molina, Tiffany

Mookerjee, Ruplekha

Morgan, Amber Mosser, Lorrie Nemeth, Lindsay Nestor, Gabrielle

Neves, Melissa Newman, Phyllis

Nowak, Christopher Ogrodnik, Peter O'Kelly, James Olisa, Michael Oriolo, Regina

Palame, Diane Palmigiano, Joanna Panthena, Katyayani Parchman, Melia

Pascarella, Brian Pasko, James Passin, Dana Perz, Allison Petrarca, Robert

Piccuirro, Michael
Pierce, Janessa
Pierce, Janina
Petrillo, Rosaria
Rafhan, Fatima

Ratty, Michael John

Raub, Nicole

Reddington, Robert Rhoden, Beverly Richiusa, Salvatore Robinson, Brittany Romano, Kristina Ruopoli, Monica Russell, Stacey Ryan, Judi

Saad, Manar Sabir, Fozia

Sagliocco, Saverio Samuel, Jean Farley, Donna Schaefer, Maureen Farrell, Kim Schultz, Kathleen Fernandez, Sandra Seidel, Caitlyn

Ferrante, Anita Sepa-Cannovo, Irma Figueroa, Lina Shah, Snehal Findley, Julian Sharma, Neeru Fischer, David Siddiqui, Salma Fischer, Michele Simon, Alex Fisher, LaShea Soong, Amelia Fleming, Leah Squillace, John Fu, Tiffany Stolte, Deborah Fusic, Britney Stolte, Erica Garcia, Ramon Stratton, Susan

Gates, Marie Sullivan, Audrey
Giovenco, Bridgette Sultana, Rafia
Gola, Christine Surratt, Amanda
Goldenberg, Adele Swank, Ann

Grzybowski, Noelle Sztukowski, Carrie Gunther, Gianine Tajudeen, Adewale

Henry, Christine

Hyland, Stephanie

Tambini, Lisa

Jastrzebski, Susan

Targonski, Heather

Jegou, Matthew

Thomas, Karen

Johnson, Aminah

Tomas-Paiva, Carla

Jones-Miller, Cheryl

Juenemann, Charlene

Talj, Roula

Tambini, Lisa

Targonski, Heather

Tricoles, Karen

Tomas-Paiva, Carla

Tricoles, Christopher

Van Blaricom, Paige

Kaefer, Matthew Van Benthuysen, Emily Kaprowski, Joseph VanHorn, Jessica

Karp, John Valkova-Kamberov, Jana

Katz, Emily

Wahba, Ragaie

Kesoglidis, Maria Walsh, Mary Bridget Khawaja, Maryam Westheim, David Kirkman, Christine Williams, Cheryl Korang, Anastasia Williamson, Joseline

Kukla, Claudia

Langan, David

Wong, Destinee

LaRocca, Joseph

Woolf, Mary Beth

Leonard, Keelyn

Logan, Deborah

Younger, Ashley

Logan, Deborah Younger, Ashley
Lutz, Joan Younger, Frederick
Marcinczyk, Samantha Zambrano, Brenda

Marcous, Wesam Zeni, Kathleen

Massato, Sabrina

Approval of Renewal of Non-Certificated Substitutes

47. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the renewal of the following non-certified substitute personnel for school year 2020-21 as indicated below.

Longo, Jessica Afriyie, Dominic Ahmad, Saima Lopez, William Aijaz, Nafeesa Massato, Sabrina Balon, Danielle Mauro, Pamela Batko, Cassie McGrath, Kathleen Bloodgood, Catherine Melvin, Winsome Bowidowicz, Catherine Molina, Tiffany Brennan, Timothy Mosleh, Lana Callahan, Mary Ann Morgan, Amber Candelario, Michele Napolitano, Alison Carey, James Nowak, Christopher Cassidy, Thomas Panthena, Katyayani Cavalieri, Angela Peshori, Neelu Cena, Christopher Petrick, Kathleen Check, Sandra Pierce, Janina Costantino, Emilio Prakurat, Raisa

Check, Sandra

Costantino, Emilio

Prakurat, Raisa

DeCandia, Filomena

Deroba, Nicole

Dobiszewski, Samantha

Downey, Rosemary

Eze, Kene

Pierce, Janina

Prakurat, Raisa

Pugliese, Alexander

Purcell, Roseanne

Rafique, Saima

Reddington, Robert

Richardson, Quamir

Farrell, Kim Rodriguez, Ruben
Figueroa, Lina Ruzanski, AnnaMarie

Gallagher, Jordan Ryan, Judi Galloway, Donna Rybak, Keith

Gates, Marie Schiavone, Michael
Giovenco, Bridgette Serpico, Patrick
Godwin, Debra Shah, Khyati
Gorka, April Shah, Snehal
Grges, Shereen Solovey, Debra
Henry, Christine Soong, Amelia
Hernandez, Patricio Stolte, Deborah

Himmelreich, Mark

Howell, Jason

Hyland, Stephanie

Irwin, Carol Kaur, Baljit

Khan, Hina

Khawala, Maryam

Kirejczyk, Alina

St. Jean- Ferrol, Sacha

Sultana, Rafia

Summerlin, Natasha Tajudeen, Adewale

Torres, Luis Unger, Linda Vitti, Laurie

Williamson, Joseline

RRl/ki